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gobobooooobobbobobobod

#include <stdio.h>

int main(void) {

int n;

printf("O000000000O0O0: ™); scanf (| () [*, | (i) D;
printf("00 7/50 | (i) Q0 ODO%¥n", iv) D3

return 0;

gobooboooboboooooo

#include <stdio.h>

int main(void) {
int i = 2;

if (1 >=4) {
i += 4;

}
else if (i >= 2) {
i+=2;

3
if (A >=0) {
i-=3;

}
printf("%d", i);

return 0;

oooooOoooooOoooboboOoos0oOgso0do spopooooooooooooDpooooo
ogooooooobon

#include <stdio.h>

int main(void) {
int i;

for ( b {
printf("%d ", i);

return O;




Iv. 0o oouobbobogo
e JJI0OOODOOIOOODOO 2000000 100O00ODOODOOOO

int foo(int n)

goboooo

#include <stdio.h>

int main(void) {
int i = 3;
printf("%d 0 20000000 10000000 %d0O00¥n", i, foo(i));

return 0;

00000000
[3mszDDDDD1DDDDDDD7DDD ]

goboogo




V. 00gdoooooooog

() JooooooooboooooooooOo1000d
#include <stdio.h>

int main(void) {
double z;

2/5; printf("%f ", z);
z (double) (2/5); printf("%f ", z);
z 2/((double)5); printf("%f ", z);
printf("¥n");

Z

return 0;

(A). 0.400000 0.400000 0.400000 (B). 0.000000 0.400000 0.400000
(C). 0.000000 0.000000 0.400000 (D). 0.000000 0.400000 0.000000

(i) 00000000 DO0oooDooODoOO 10004
#include <stdio.h>

int main(void) {
int i;

for (i=1; i<40; i*=2) {
printf("%d ", i);

}
printf("| %d¥n", i);
return 0;

(A. 1248163264 | 64 (B). 12481632 ] 64
(C). 24816 32 64 | 64 (D). 248 16 32 | 64



(i) OO0DO0DDO0D0O0DDDOODODODODO0O0O0OO0O0 10000

(A). (0,0
(0,1)
(0,2)
(0,3)

©. (0,8
0,1
0,2

int main(void) {
int i, j;
for (i =0; i < 3; i++) {
for (7 = 0; j < 4; j+d) {
printf("(%d,%d) ", i, j);

return 0;

(1,0)
(1,1)
(1,2)
(1,3)

(1,8
(1,1)
(1,2

#include <stdio.h>

3
printf("¥n");

2,0
2,1
(2,2)
2,3

(2,0 (3,0
(2,1 (3,1
2,2) (3,2)

(B).

(D).

(0,0
(1,0
(2,0)
3,0

(0,0
(1,0
2,0

(vy DODoOooOoOOoOoOoOo0ooooooooobc1000o

0,1
(1,1
2,1
G,D

0,1
(1,1
2,

(0,2)
(1,2)
(2,2)
3,2

(0,2) (9,3)
(1,2) (1,3)
2,2) (2,3

(A). (0,0)
(1,0
(2,0)
3,0

(©). (0,0
(0,1)
(0,2)
(0,3

int main(void) {
int i, j;

#include <stdio.h>

for (i = 0; i < 4; i++) {
for (j = 0; j <=1; j+) {

printf(" (%d,%d)

return O;

(1,1)
(2,1)
3,1

(1,0)
(1,1)
(1,2)

h
printf("¥n");

(2,2)
(3,2) (3,3)

(2,0) (3,0
2,1

(B).

(D).

(0,0)
(0,1)
(9,2)
(9,3)

(9,0)
(1,0)
2,0
(3,0)

(1,1)
(1,2)
(1,3)

(0,1)
(1,1)
2,1

(2,2)
(2,3) (3,3

(0,2) (0,3)
(1,2)



(vy 00000000 0int000 data0 00000000 OOOO0ODOODOOODOO
#include <stdio.h>

#define NUM 10

int main(void) {
int i, n=0;
int data[NUM] = { 17, 38, 100, 95, 23, 62, 77, 45, 69, 81 };

for ( D {
if (data[i] % 2 =—= D 1
n++;
}
}

printf("000 %d0000O00O¥", n);

return 0;

gooo
int data[NUM] = { 17, 38, 100, 95, 23, 62, 77, 45, 69, 81 };
gobooobooogon

( ooo 7000000 )
gooooad
0000000000000 0oooOoooOoOo 10000

(A). i=1; i<=NUM; i++ (B). i=1; i<NUM; i++

(C). 1i=0; i<=NUM; i++ (D). i=0; i<NUM; i++



(vii OOooOooooOoooooooOoooono 10000
#include <stdio.h>

int arr[4]1[3] = {

int main(void) {
int i, j;

for (i=0; i<3; i++) {
for (j=0; j<4; j++) {
if (arr[jl[i]l==1) {
printf("o ");
} else {
printf("x ");

3
printf("¥n");

}

return O;

(A). oxo (B). oxo (C). oxxo (D). o x x x
X O X X O X X 0 0 X X 0 0 X
X O X X O X 0 X X X 0 X X O
o X X X X O

(vii) OO0 int bar(int n) 0 0On0 300000000000 n0O 1000000000 10
o000 30booooo 10booboboobooboo obobboooO

int bar(int n) {
return ’ ;

}

oobbooobbooooboboooobuobooo10bDbo

(A). n%10==0 && n%3==3 (B). n%10==0 || n%3==
(C). n%10==3 && n%3==0 (D). n%10==3 || n%3==0



(vii) 00O firstNegativeO int0 00 arr00000000000arr0000000O0O0O
oo ooooooobodooobbobdoobobboooa
gt moboouonoboboobob oo ooooboobo

#include <stdio.h>

int firstNegative(int arr[]) {
int i = 0;
while ( D {
3
return ij;
}
int datal[] = { 1, 2, 3, -6, 4, -5, -7 };

int main(void) {
printf("O 0000000000000 %dO000¥n", firstNegative(data));

return O;

ogood
int datal]l] = { 1, 2, 3, -6, 4, -5, -7 };

ugbobdoooboaooodao

( DopoooooooOoO0oO 3000 )
gooooo
0o 0 a oo0odbooooodooboooodoooooo 1o0oa
(A). O:arr[i]<® O i++ (B). O:arr[il]>=0 O:i++
(C). O:arr[i]>=0 O:arr[i]++ (D). O:arr[i]<6® O:arr[i]++

(x) DOODO00OO00D0ODOO0DOO00000DO0OD 10000
#include <stdio.h>

void baz(int n) {
if (n>0) {
baz(n-2);
printf("%d ", n);
baz(n-1);

}

int main(void) {
baz(4);
return 0;

(A. 2141321 (B). 2141312
(C). 1231412 (D). 1231421
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